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COMMERCE

(Honours Elective)
Paper : COM-HE- 5016
( Management Accounting )
Full Marks : 80

Time : Three hours

The figures in the margin indicate
full marks for the questions.

1. Answer the following questions : (any ten)
1x10=10

(a) Management Accounting deals with
both quantitative and
information. (Fill in the blank)

(b) Management Accounting is helpful in
increasing profitability. (State whether
the statement is True or False)
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(ci 'Define *the"\ term
Accounting’.

‘Management

(d) Financial statements are
(i) estimates of facts
(i) anticipated facts
(iii) recorded facts

(iv) All of the above
(Choose the correct answer)

(e) Financial statements are only
reports. (Fill in the blank)

() Debt-equity ratio is the relationship
between outsiders’ funds and
funds. (Fill in the blank)

(99 What is gross profit ratio ?
(h) What do you mean by cash budget ?

(i) Labour cost variance is the difference
between standard cost of labour and
_ cost of labour. (Fill in the blank)

(j) State the meaning of standard costing.

(k) What is break-even point ?
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() Marginal costing is a technique of cost
control. (State whether the statement
is True or False)

(m) Contribution is the difference between
sales and _  costs.

(Fill in the blank)

(n) What is margin of safety ?

(o) Standard cost is a cost.

(Fill in the blank)

(p) Liquidity ratios measure long-term
solvency of a concern. (State whether
the statement is True or False)

(g9 Management Accounting provides
decisions to the management. (State
whether the statement is True or False)

(r) Liquid ratio is also known as __
ratio. (Fill in the blank)

2. Write brief answers to the following
. questions : (any five) 2x5=10
(i) Mention two limitations of Management

Accounting.

(i) Write two distinctions between Cost
Accounting and Management
Accounting.
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(iij) State two objectives of financial
statement analysis.

(iv) State two advantages of ratio analysis.

(v) Mention two distinctions between fixed
budget and flexible budget.

(vi) Write two limitations of budgetary
control.

(vii) State the meaning of materials cost
variance.

(viii) Write the significance of the term
‘variance’ in standard costing.

(ix) State the meaning of marginal costing.

(x) What is angle of incidence in marginal
costing ?

3. Answer the following questions : (any four)

5x4=20

(i) Mention five objectives of Management
Accounting.

(i) Briefly explain the importance and
need of Management Accounting.

(i) Write a brief note on comparative
statements.
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()

(v)

(vi)

(vii)

Explain in brief the significance of
return on capital employed.

State the objectives of budgetary
control.

Briefly explain any five advantages of
cash budget.

Explain the possible causes for
material price variance in standard
costing.

(viii) Write a brief note on cost-volume-

profit analysis.

Answer the following questions : (any four)

(@)

(b)

10x4=40

‘Management Accounting is the
presentation of accounting information
in such a way as to assist
management in the creation of policy
and in the day-to-day operations of the
undertakings.” Explain this statement.

Briefly discuss about cost control and
cost reduction. Also explain its
advantages. 3+3+4=10
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(c) Explain the procedure of analysis and Month Sales (3) | Purchases (%) | Wages (3)
interpretation of financial sta"cements.f February 1.80,000 1.24,800 12,000
Also discuss the limitations o
financial analysis. E15=10 March 1,92,000 1,44,000 14,000
April 1,08,000 2,43,000 11,000
(d) From the following data,f Ere??re Z oy 000 TG00 000
i t of Proiit an i i !
Eg:slp:fr%tgsaslf;f;n E?d. ; June 1,26,000 2,68,000 15,000
Other informations :
Particulars 31-3-2021 31-3-2020 (3]
; 8 :
R from operations 25,00,000 20,00,000 ) S0 /? of : the credit sales are
i E 1’00 000 5 00000 realised in the month following
Other incomes ke Lot the sales and the remaining sales
Employees benefit expenses | 60% of total 50% of total in second month following,
revenue revenue ; i ,
Other expenses 10% of employees | 20% of employees (ii) Creditors are paid in the following
benefit expenses | benefit expenses month of purchase.
Tax rate 50% 40% (i) Cash at bank is ¥ 25,000 on lst
() What is a budget ? Briefly explain the April.
advantages of budgetary contrgl;g_l 0 (g9 (i) Explain wage rate variance and
i labour efficiency variance. 2+2=4
(1 X & Co. wishes to arrange overdraft " . _ _
facilities with bankers during the () From the following information

regarding a standard product,
calculate labour variances : 6

Labour rate - 50 paise per hour
Hours per unit - 10 hours

Units produced - 500

Hours worked - 6000

Actual labour cost - ¥ 2,400

period April to June of a particular
year, when it will be manufacturing
mostly for stock. Prepare a cash
budget for the above period from the
following data, indicating the extent of
the bank facilities, the company will
require at the end of each month :
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(h) (i) State the steps involved in
standard costing. 4

(ii) Discuss the limitations of standard
costing. 6

() Explain the advantages of marginal
costing and cost-volume-profit analysis.

() Assuming that the cost structure and
selling prices remain same in period I
and II, find out —

(i)  P/V ratio;

(i)  Fixed cost;

(i)  Break-even point for sales;

(iv)]  Profit when sales are of ¥ 1,00,000;

(v) Sales required to earn a profit of ¥ 20,000.

2x5=10
Period Sales () Profit ()
I 1,20,000 9,000
II 1,40,000 13,000
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COMMERCE

(Honours Elective )

Paper : COM-HE- 5026
(Advanced Financial Accounting )
Full Marks : 80
Time : Three hours

The figures in the margin indicate
Sull marks for the questions.

1. Answer any ten of the following questions
as directed : 1x10=10

(i) Royalty is payable by the —_to
the—__.  [Fill in the blanks with
appropriate words |

(i) When short working lapses, it is
transferred to the Profit and Loss
Account. [ State whether the statement
is true or false]
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(i) Departmental Account is prepared to
ascertain separately the ________ of each
department. [Fill in the blank with
appropriate word/words |

(iv) Expenses connected with purchases
should be allocated among different
departments on the basis of

[ Fill in the blank with appropriate word /
words |

clause is applicable where the
sum assured is less than the value of
stock. [ Fill in the blank with appropriate
word /words |

(v)

(vi) Purchase consideration is settled only
in cash. [ State whether the statement 1s

true or false]

(vii) Profit or loss on realisation is
transferred to partners’ capital account
in the_—___ ratio. [Fill in the blank
with appropriate word/words]

(viii) The difference between the standard
turnover and actual turnover during the
indemnity period is called

[Fill in the blank with appropriate word/
words|
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(ix) After the payment of full compensation,
the stock salvaged becomes the
property of the insurance company.
[ State whether the statement is true or

false]

(x) Government Accounting is maintained
on cash basis. [State whether the
statement is true or false]

(xi) Short working arises when_______is
payable. [Fill in the blank with
appropriate word /words]

(xi) When minimum rent is more than
actual royalty,________is payable.

[Fill in the blank with appropriate word/
words]

(xait) Under Departmental Accounts, both
Profit and Loss Account and Balance
Sheet are prepared for each
department. [State whether the
statement is true or false]

(xiv) Departmental Accounting helps in
comparing the results among different
departments. [State whether the
statement is true or false]

(xv) When a firm is dissolved,
Account is prepared to ascertain profit
or loss on realisation. [Fill in the blank
with appropriate word /words]
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(xvi) When an unrecorded asset is taken over 3. Answer any four questions : 5x4=20
by a partner, Realisation Account is f
credited. [State whether the statement 1)
is true or false]

Explain any five special features of
Departmental Accounting.

(xvii) The insurance company is liable to fully (@) EXplan; hSC;W 5 tl;.le A c?rgvernénenctl:
compensate the insured irrespective of isci(z)lrt:tilgied andards Advisory Boar
the sum insured. [State whether the e

statement is true or false] (iii) A fire occurred on 30th April, 2022 in

the premises of Leela Gogoi Ltd. The

(xviii) Government Accougttlrig fggg:&;{?uﬁiz information available from the books
e?aignei%ize%e [or ;alse ] of the company is as follows:
S .
. Answer any five questions: 2x5=10 (Rs.) (Rs.)
(i) What do you mean by short workings ? Vahietog inventorgom 50,000 ?alestrom 242 5,00,000
) on lst January, st January,
(i) Explain the meaning of dead rent ? to 30th April, 2022
(i) State any two advantages of Purchases from 3,00,000 | Value of inventory 10,000
Departmental Accounting. tljtsoﬁn:g, gggg salvaged
. . . 9 :
fit}asf¥hat,is BImeeamanon ol finS Direct labour payment 75,000 | Direct expenses paid| 50,000 |
v) State any two objectives of Government ias
( Accounting. Gross Profit ratio is 20% on Sales.

Prepare a Statement showing the
amount of claim to be lodged in the
(vii) What 1s royalty ? case of the loss of inventory assuming
that the inventory was insured.

(vi) What is piecemeal distribution ?

(viii)) What is ‘inter-departmental transfer’?

(ix) What is the meaning of dissolution ? (iv) Explain different types of claims under
General Insurance Company.

(x) What is Government Accounting ?
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(v)

(vi)

(vii)

Explain the methods of recoupment of
short workings.

Explain how common expenses are
apportioned among different
departments.

Briefly explain different modes_ of
discharging purchase consideration
when a firm is sold to a company.

(viii) Briefly explain the impact of strike and

4. Answer any four questions:

(i)

lockout on the payment of royalty.

10x4=40

Eastern Mines Co. leased some land to
Kolkata Traders Ltd. at Rs. 5 per ton
of output subject to the dead rent of
Rs. 40,000 p.a. with the right to recoup
the short workings during the first three
years of the lease. The output for the
first 4 years were as follows :

1st Year 6,000 tons
2nd Year 8,000 tons
3rd Year 11,000 tons
4th Year 7,000 tons

Give journal entries in the books of the
lessee for four years.

4 (Sem~-5/CBCS) COM HE 2 (AFA)/G 6

(i) From the following data, prepare the

Departmental Trading and Profit and
Loss Account for the year ended 31st
March, 2022 :

Particulars Department-A | Department - B
(Rs.) (Rs.) (Rs.)
Opening Stock as on 3,400 2,900

1st April, 2021

Purchases 7,280 6,340
Direct Wages 1,740 440
Purchase Returns 200 300
Stock as on 3,348 2,410
31st March, 2022

Sales 12,560 9,620
Sales Returns 400 500

Other items of Expenses and Income :
(a) Salaries Rs. 600
(b) Advertisement Rs. 736

(c) Carriage Inward Rs. 468
(d) Rent, Rates and Taxes Rs. 1,878
(e) Electric Charges Rs. 627
() Discount Allowed Rs. 441
(g) Discount Received Rs. 1,968
(i) Sundry Expenses Rs. 720
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The following further information is supplied

to you:

(@) The following items are to be
apportioned between the Department
A and Department B in the ratio of 2:1
respectively—Rent, Rates and Taxes,
Sundry Expenses, Electric Charges,
Salaries and Carriage Inward.

(b) Advertisement is to be apportioned
equally.

(c) Discount allowed and received are to
be apportioned on the basis of
departmental sales and purchases
respectively.

(iii) The following is the Balance Sheet of
Ratan and Sankar as on 31st March,
2022 who were partners in a firm sharing
profits and losses in the ratio of 3:7:

Liabilities Amount | Assets Amount
(Rs.) (Rs.)

Creditors 80,000 | Buildings 80,000
Reserves 40,000 | Machinery 70,000
Capital: Stock 60,000
Ratan 80,000 Furniture 60,000
Sankar 1.20.000 2,00,000 | Investments 40,000
Debtors 40,000

Bank Overdraft 40,000 | Cash in Hand 10,000
3,60,000 3,60,000

4 (Sem—S/CBCS} COM HE 2 (AFA)/G 8

(i)
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The partners decided to dissolve the
firm on the above date. Furniture was
taken over by Ratan at Rs. 50,000.
Creditors were discharged at a discount
of 10%.

The other assets were realised as
follows :

Buildings Rs. 1,10,000
Machinery Rs. 50,000
Stock Rs. 45,000
Investments Rs. 55,000

Debtors at 5% less than book value.
The expenses of realisation amounted
to Rs. 15,000.

Prepare the necessary Ledger Accounts
to close the books of the firm.

From the following information,
compute the amount of claim for
consequential loss:

(a) The fire broke out on 1st July,
2021 and it affected sales for three
months.

(b) Sales for three months ending
30th September in 2020 and 2021
were Rs. 1,50,000 and Rs. 50,000
respectively.

(c) The policy was for Rs. 4,50,000
with a six months period of

indemnity.

Contd.



(v)

(d) Sales for 12 months ended on 30th
June, 2021 were Rs. 19, 00,000,

(e) Accounts are prepared on 31st
December.

() The Net Profit for 2020 amounted
to Rs. 2,50,000 after debiting
standing charges totalling
Rs. 1,10,000.

(g) Sales for 2020 were
Rs. 18,00,000.

(h) A sgm of Rs. 3,500 was spent as
additional expenses to mitigate the
effect of the loss.

Ram and Shyam are equal partners in
a firm. Their Balance Sheet as on 31st
March, 2022 was as follows :

Balance Sheet of Ram and Shyam
as on 31st March. 2022

Liabilities (Rs.) | Assets (Rs.)
Creditors 12,000 | Furniture 15,000
Reserves 2,000 | Stock 15,000
Capital : Debtors 16,000

Ram : 20,000 Cash

Shyam: 15000 | 35000 —
TOTAL 49,000 | TOTAL 49 000
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They wanted to amalgamate their
business with that of Akash and Bikash
whose Balance Sheet as on that date
was as follows :

Balance Sheet of Akash and Bikash

as on 31st March. 2022

Liabilities (Rs.) | Assets (Rs.)
Creditors 10,000 | Machinery 20,000
Bill Payable 5,000 | Stock 9,000
Capital : Debtors 7,500
Akash : 15,000 Cash 3,500
Bikash : 12,000 27,000 | Profit and Loss A/C | 2,000
TOTAL 42,000 | TOTAL 42,000

Akash and Bikash share profits in the
ratio of 3 : 2. Profits and losses of the
new firm are to be shared equally. Assets
and liabilities of the firms are to be taken
over at agreed values as stated below :

Ram and Shyam Firm:

Furniture Rs. 14,000
Stock Rs. 16,000
Debtors Rs. | 14,000
Goodwill Rs. 10,000
Cash Rs. 3,000
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Akash and Bikash Firm :
Machinery Ks.. 18:000

Debtors Rs. 7000
Goodwill Rs. 5,000
Cash Rs. 3,500

You are required to give the opening
entries and draw the new Balance Sheet
of the new firm taking Rs. 80,000 as
the combined capital of the firm to be
contributed equally by the partners.

(vij What is a Realisation Account?
Explain the steps for preparation
of Realisation Account ? 2+8=10

(vii) Explain the general principles of
Government Accounting.

(viii) Explain any five distinctions between
Government Accounting and
Commercial Accounting,

(ix) Explain different methods of piecemeal
distribution.

(x) Exglain the procedure of calculating the
claim under a loss of profit policy.
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COMMERCE

(Honours Elective )
Paper : COM-HE-5066
(In-dian Financial Syétem )
Full Marks : 80
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer any ten questions from: the following
as per direction : : 1x10=10 !

o SRR weTe 13l e ez rebre Gee
feralt 8

() Money market in India is regulated by

- RBI. (Write True or False)
ORSH T4l IGIwE SReR [es @@
afEe | (8% 7 o137 [730)
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@

\

“Financial system is basically involved

with the transfer of fund from the

| ~ surplus sector to deficit sector of the

(i)

economy.”

(Whether the statement is true or false)
RSl a2 ET00 ST AT 2= =i
QG e BT @

(FURIF 751 A 35 f7530)

National Stock Exchange (NSE) was
‘established in the year -

SIS B [ (P $o (PG!S et

) c2feEe

(@) 1995/ 55d¢ 5T®
(b) 1992/555% 549
(c) 1997/5559 b©

(d) 1990/ 550 5

(Choose the cbrrect .option)
(o% Ceseo! f741)
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(iv) When the bank accepts deposits of

(v)

4 (Sem-5/CBCS) COM HE b (FS)/G 3

money from the public it occupies the
position of :

o @F TAAILIFERE “[1 & Tl o, & @)
o3 w4E IE ‘

(@) creditor
ANSHVIT

(b) debtor
MW

(c) Both (a) and (b) above
<% TOW () I (b)

~ (d) None of the above

@S] Jble w2
(Choose the correct option)

(% GGl f&7311)

Indian banking sector is divided into
two parts; one is organised sector and
the other is known as .

(Fill in the blank)

SO (R e 1Hl ©lofe Sl
Qb1 TN Y T S 3fe T
| (CoR& A9 ATl AZ 979 1)
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(viii) Fourteen commercial banks were

(vi) New issue market is also known as ; : : :
: . nationalised in the year
rimary market. Write Yes or No |
e ( ) i 145! qififers @< BT (2T
Tor e qoee 2l IwE s = | " - : :
(@) 1949/558> b
; (27 3t 723 [7731) -
‘ (b) 1969/ 55> 5O
(vit) IRDAI regulates (¢)’ 1980/ Ssb-0 H®
~ IRDAI ¢ {72t 5= e (b) 1976/ 559% 58
) entenes sesien : : (Choose the correct option)
e . | , (3% ©GSCo] [131)
QP i ;

(ix) NBFI is not regulated by RBI.

(b) banking sector
(Write Yes or No)

GG
R i NBFI ©ReR Ree @& @i Faigs w2
C oth banking and nsurance ; :
(c) g | (27 It 723 [a3i)
sectors
Feirle wiE @:F2 A% TR (x) ‘Capital market is dealing with the long
; . : term/short term fund.
. ) None of the above | ' (Choose the right answer)
@59 «ble T2y | Siemr e ZHFI Ao e
| . DGR / AR
(Choose the correct option) File Gfeo | (w5 ©aFeo! 7))

(2F© &% el f13)
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(xi) Write the full form of CRISIL.
CRISIL F 7= /15! &7l |

(xii) Name the oldest stock exchange of our

(xv) Which of the following is not a
nationalised commercial bank ?

oo (FINCE! AT T (@5 T2 ?

country. ’ () aBNE
SN (R TR A 5 RTR @R | (b) UBI
1 fo1 | S | (c) Bank of Baroda

(i) In hire purchase, ownership remains
with the , until the last

(d) Federal Bank
(Choose the right option)

instalment is paid. (Fill in the blank) | (7o CGFCo! far3l)
©IYl FFS A 79 I Qoe A, I ~ (xvi) Credit rating is
Efeaie o 8 wmE [ T 2
(&% X7 AT 912 979 )
(a) fee based service
(xciv) The proportion of .share capital of e A T e @t
central government in RRB is , "
RRB WS (@@h: ik S SIS (b) ﬁ',md based service
' sffer fefes @l

(@ 50%/&o%
(b) 35% /9¢%
(c) 15%/5¢%
(d) None of the above

(c) Both (a) and (b) ‘above
@999 (a) % (b) TSE
(d) None of the above

@579 «Ble 72T @299 dbIe W
(Choose the correct option) (Choose the right answer)
(5% Gew f530) (% ©eFeol fo7401)
4 (Sem-5/CBCS) COM HE6 (IFS)/G 6 4 (Sem-5/CBCS}.COM HE 6 (IFS)/G 7 Contd.



(xvii) Name the first development bank of

. India.
O] AT THIAN! ([EHFEIE W A |

(xviii) Commercial banks have been
playing an important role in
smooth functioning of money

market. (Write Yes or No)

| IS P IBIFHCA 512 [Fe e
@F @ gl ST AT TS |
@A)

2. Answer any five questions from the
following : (Answer should be in about 50
words) 2x5=10

ficsie 2fel dw Ses 2 500 W fowo
Rigwizan <569 ©es &30l ¢

(@) What is financial system ?

e 97 5o

4 (Sem-5/CBCS) COM HE6 (IFS)/G 8

(b) Give the meaning of pension fund with
examples.
cees AfSr e 6 Snizses Giee & |

(c) Mention two distinguishing features of
capital market. '
Y| G 761 SAS ([fRiEy S w4l |

(d) What is primary market ?

GIRIFCIR IS ME:

(e) Name two important laws/legislations
directly related with the banking
sector in India.
ey (IR AT Foe Ul Givs 75/
wSFIa) oo/ Rifd ) fovan| ‘

() Give the meaning of financial service.
e eRE =g foia |

4 (Sem-5/CBCS) COM HE6 (IFS)/G . 9 Contd.



{g9) What is leasing? i (b) Write the signiﬁf:ance of factoring.

fafere foe G (R @9 &40

(h) Define hire purchase. () Explain the classification of capital

olel 39 Age! ol |

| market.
(i) What is insider trading? l "FW“S‘T IS IRl =5 9 |
il (d) Discuss thel role of financial Services in
() State two objectives of IRDAI.. . i development of financial system.
IRDAI 75 SU<y BlER 1| : el 3979, Tafve RSl RN ohm

A SR

ny four of the followin ' ues‘tions .
S i () What are the sub-markets of Indian

in about 200 words each : 5x4=20
: money market ? Explain.
weTe Al elfSTh! 2% Teq el 2006! *7 fToT9 7 .
iz bIfab19 Bes A 3 | SNe U G SoREER & /e i
| <41 |
(@) Give an account of new developments

in Indian financial system.

ool € TR T TN R @3
f=el mife «t | !

| () Explain the regulatory role of PFRDA.

PFRDA 3 fafdsi® wfimel <=l S |
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AR | .



(g) State the benefits of venture capital‘.
(SbIR e ARAPTR 361 4 |

(h) Mention the objectives of SEBIL.

ﬁﬁmﬁﬁmﬂﬁﬂmm |

T 41|

4. Answer any four questions from the
following : 10x4=40

firRie weFed Rt bifeorq ©ed oAl ¢

(a} “A  well-developed financial system

contributes significantly in the economic

development of a country.” Explain.

“qqe O LR TRETS -6TS Rel
AT OleAH7l 6 SoRBE [ A 5 |

(b) What are the primary objectives of

financial system ? Discuss the structure

of Indian financial system. 3+7=10
el IRER I SR [ e eRel

TE GIEI9 NN A F4 |

4 (sem—S/CBcs} COM HE 6 (IFS)/G 12

(c) Discuss the constituents of money
market and their role in economic

development of a country.

ol T A S G G ST
Tafow TR GHRA SHCEEAT 41|

(d) What are the imperfections of Indian

money market ? Explain.

SRR W TGRE FoR [ 62 W0t

(e) Discuss the primary and secondary

functions of commercial bank.

AT @@ I O (T PRI
ST |

() Define bank. Also point out the
difference between banking and non-

banking financial institutions.
2+8=10

g @ [l TS ([ O SRR
e efoviR SILFPRR SiekRIR )
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() Discuss in detail the functions of

(9) Write the features of financial , SEBI.
services. Explain the different fund- ; ‘ ‘ e SRS SCEn=l 1 |
: SEBIF SRRET 2%
based financial services. 4+6=10

R crm whREPEE fR @ At
Aie-fofes Rem CRPTIRS [ 12t 351 |

(k) Difference between - 91+5=10
Ny a2

() Fund-based and fee-based
financial services : ‘

(i) Open ended and close ended
mutual fund

Open ended W% close ended

() Discuss the role of RB] as 're.gulator
and supervisor in financia] syStem of
- our country, ' '

SIS 0P ST 21 SRS RS e ‘ ‘

FRES SIS AR RoTe i ey Szl | | ‘ 2500
| " 4(Sem-5/CBCS) COM HE 6 (IFS)/G 15 7
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COMMERCE

(Honours Elective )

Paper : COM-HE- 5036

(Advertising )
Full Marks : 80

Time : Three hours

The figures in the margin indicate

Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed : (any ten)
' 1x10=10

wore fral e o SRR Ses i ¢
(RicerzaTt 2ot
(a) Advertising can be used to sell

RSoi1 7191 (0! RS 13 92< 11 T 2

(1) product
aqj
(i) service

(@45l
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(b)

(iti) idea
SIERI

(iv) All of the above
@999 SIGI220!

(Choose the correct answer)

-(ﬂ%%@zﬁfﬁfﬁ@ﬁ@w)'

Which media is useful for illiterate

consumers ?

g 2123 A CPACS! e AT AR

J?

(i) Print
ll

(i) Broadcast
SIS CARel

| (iij) Poster

CoA2I9
(iv) Transit means

(Choose the correct answer)

(% Tesch! R Slersdn)

4 (Sem-5/CBCS) COM HE 3 (ADVT}/G 2

(¢)

(@)

4 (Sem-5/CBCS) COM HE 3 (ADVT}/G 3

L

Personal selling is not targeted towards

I [ Fie o 512
() mass audience
IR e
(i) personal contact
JfEare sl
() two-way communication
[ CRRIRIRIR!
(iv) quick feedback
rereq T
(Choose the correct answer)
(I Tl AR Tfered)

The best means of increasing sale of
an article is

1w e i A e AES taE
(1) exhibition
G
(i) fairs
=Tl
(iii) advertisement. ' .

IGleakaDl

Contd.



(ii) Influencer

7 (iv) None of the above | I
@97 €58 T St (i) Attitude
(Choose the .correct answer) ‘
(P o A% BAe) o ehaRel
(¢) The fastest growing medium of ‘ (iv) Decider
advertising 1s \ gy - GEAREE
TeosiIa fReslofe 0 xR ' (Choose the correct answer)
) TV | . (A3 Tewdl <R Tae)
fofs ; | . (g9 Which of the following is not a feature
(i) Radio | of the advertisement ?
_ = : IR (P! {eslei (e w2
SICG]
(iii) Internet: ‘ ) (i) Paid activity
(iv) Newspaper (ii) Identified sponsor
A PO | | foie 1 AR
(Choose the correct answer) ‘ ol sl O'r 1
_ a
(13 Teeh) e Tlarsdr)

yiRciy Al GRS

(/) Which role people donot play in making
« (iv) Personal

decision on buying ?

T G (RO TR (o] iz der [ ; Lt BRI
T 2 (Choose the correct answer)
() Initiator (% Tkl qik Tfaean)
RIS EEOIRIIE - |
4 (Sem-5/CBCS| COM HE 3 (ADVT}/G 5 Contd.
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(h) Primary purpose of advertising is to

fReaiolng 2iafis Soe (02
(i) inform
NERISESTA B
(i) persuade
Ao GCARN
(iij) remind
S (7R
(iv) All of the above
G SIGI2CH2D!
(Choose the correct answer)
(7% Tewch! R Tleredn)

(i) Which of the following is not a feature
of advertising ?

O (0] Reaeaa &gy 9232

(i) Information

oK)
(i) Brand image building-
(iii) Persuation

4 (Sem-5/CBCS) COM HE 3 (ADVI)/G 6

(iv) Pricing

Ty e |
(Choose the correct answer)
(7. T JIR T1Sn)
() Brand switching is one of the objectives
of
o7 TRAITAI (P! ST (1% R o1le
GRS ?
() management
AR
(i) marketing
IEEP
(i) advertisement
Gakn
- (w) publicity
i
(Choose the correct answer)
(0% el AR TlTsd)
(k) The client of an advertising agency 1s
called
WMEQWW@W%@WW?
(i) customer

AT

4 (Sem-5/CBCS) COM HE 3 (ADVT)/G 7 Contd.



o

(i) major
- (TS
(iii) corporate
SIS
(iv) account |
GO | e
(Choose the correct answer)

(7% TeFCo! R Clersdl)

Which one of the following is not a
media vehicle ?

S (] W A A= 2

. (i) Leaflet
- eibf A
(i) TV
&R
(iii) Confer‘ence- Hall
A T
. (iv) Internet
ZAGAAG
(Choose the correct answer)

(7% Tewh! AR Tleredr)

4 (Sem-5/CBCS) COM HE 3 (ADVT)/G 8

——
— o

(m)

()

4 (Sem-5/CBCS) COM HE 3 (ADVT)/G 9

Egyptians used to make sales messages
and wall posters.

@ 9T IR |

() papyrus
27
(i) fabric
RIS
(iti) pine
A
(iv) eucalyptus

TUEHAG

(Choose the correct answer)

(0 Teseh! R leedn)

The first American advertising agency
was set up by

2 SN [elod 7Rl Fei SR
(i) Gutenberg

Kool
(i) Volney Palmer

CaI GRS
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(i) Kuleshov
FT52S

(iv) E. S. Porter
3. 9. R

(Choose the correct answer)
(T CeTH! AT Tlevedy)
(o) Write the full form of ASCI.
ASCI T =54 Fiofht ol |
(p) Write the full form of USP.
USP 3 57=j¢f Fisio1 &1t |
(@) Write the full form of TRP.

TRP 3 5754 F#(51 {370l

brings the attention to products
to potential customers.

(Fill in the blank)
(TS AP AR Tq1 effs
IS P | (A AT 959 =)

2. Briefly answer the following ! (any five)
2x5=10

(@) What is advertising audit ?

Reaiof 2= Wi o

(r)

4 (Sem-5/CBCS) COM HE 3 (ADVT)/G 10

(v)
-
(@

(e)

(9)

()

(1)

0)

What is online advertising ?

e [P e [ _

What is advertising budget ?

featofa 0 M (62

Write the meaning of advertiéing appeal.
fResteiee S e e

What is_media scheduling ?

AT OifeTesel M (52

Write the concept of brand.
RGO RGN

Mention any two functions of
advertising agency.

ReloW 7B R 76! I Sl 41|
What is sales promotion ?
et gfaeet e

Mention any two advantages of 1ntemet
advertising.

ZORGIG REslof™ Ricica) 75 73Rel T 1 |

Write any two outdoor media used for
advertising.

ﬁwmwmmﬁz@mm@mw
T |

4 (Sem-5/CBCS) COM HE 3 (ADVT]/G 11 Contd.



3.

Write short answers to any four of the
following : ' 5x4=20

oo Rl bifeoie oY Ted Bl 8

(@)
(b)
(©

(d)

(e}

(9)

Explam the Ob_]E:CtIVCS of advertising.
faeaieiaa Soael) it <5 |

What is media planning ? Ex_plain it.
e SR W fF2 R A

Explain the qualities of a good
advertising copy. ' '

Tew FE@e (G el SIcEnal 4|

Explain the future role of advertising
in India. '

Sis® 7o SIReRS [esl#/a B! SITEbl
74l |

Discuss the AIDA model of"

communication.

@Il AIDA T[ICE! IR 4|

Explain the advantages of advertising.

fReaiofee ARAPTE TR0 F |

Explain some commonly used direct
advertising.

FigeTelE e (2l i eerF [EEiee
e el |

4 (Sem-5/CBCS) COM HE 3 (ADVTJ/G 12|

.

(h) Write a note on advertising on social
media. _

Wmmﬁwwemmmﬁm

Write long answers to any four of the
following : 10%4=40

mﬁmmwﬁﬁawﬁ%@s%w

(a) “Affordability is “the best way to decidé
the advertising budget.” Discuss.

“FreaeFE AT WHR FECS AT, (2
TeFB TR — S |

(b) Broadly explain the emerging trend in
advertising.

SRR Tl 4R eree IZR |

(c) Write the meaning of advertising
agency. What are the various types of
advertising agency ? Explain.

et R o 52 [fen @ IEEakOl
wegE [e e gt 0

(d) What are the various Acts available in
India to control advertisement 2.

Explain.
SRedEs Reia e SR i & 6 oz
GoleTa SNCz? Iene el |

4 (Sem-5/CBCS) COM HE 3 (ADV)/G ~ 13 Contd.



() Has technology played a role in modern
day advertising ? If yes, discuss its

(e) Explain the nature and importance of
advertising.
effects.:

() What is audience analysis ? What are : (oeiBrEE 2 W Coﬁfi‘c@ ASICEIEY G RERIG

the factors that affecting audience \
analysis ? Explain. 3 FeAIFEIAN IR 1 |

(o Resel e [ 2 ot Resmare & s
ooR RBIT B2 9691 31 |

(g) Explain the procedure of advertising
budget. What are the factors to be
considered while deciding advertising

budget ? Explain.
fq@l7m AEs ewe TN S w1
Rrest=i A1es dwe FIe & T 2or fwe
IE? 9 791 | :

(h) What are the different types of
advertising appeals ? Explain,

ffen == et vz & 2 g

sl

(i) Discuss the major factors which
influence media scheduling. :

T4 SIS A AR 7 Srors | |
ST 41| | | :

4 (Sem-5/CBCS) COM HE 3 (ADVI}/G 15 o

{ (Sem-5/CBCS) COM HE 3 (ADVI)/G 14



Total number of printed pages—15
4 (Sem-5/CBCS) COM HE 4 (BNK) -

2022
COMMERCE

(Honours Elective )
Paper : COM-HE-5046
(Banking )

Full Marks : 80
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Choose the correct answer of the following :
(any ten) 1x10=10

e Rz 91 wm Tean! Ak S
(RicprzaT w2b1q)

(@) In which year was the State Bank of
India established ?

(I bT® SRS (86 (@55 Afowl 391 Cafeeis
(i) 1934 / s»e8
(i) 1949 / S58%
(i) 1955 / Ssee
(iv) 1959 / sues

Contd.



(b) The first Indian commercial bank to

(c)

undertake merchant banking services
in India is

SISO vmﬂ?r @R @R SRRl erqmm

. oo AT @F T

(i) State Bank of India
SO (B0 ([

(11) Bank of Baroda
@& oI I

(iii) Canara Bank
PGl (KT

(iv) UCO Bank
T @

In which year was the Regional Rural
‘Bank Act passed ?

(I 5T ST AN (35 SIieA el 1 (2
() 1969 / S5Ys
i) 1975 / >»3¢
i) 1976 | >»2%

(i) 1980 / >3v°

4.(Sem~5/CBCS) COM HE 4 (BNK)/G 2

(d) A ‘banker’s lien is

([5F9 HY T

(1) part1cular hen
R =2 |

(ii) negative lien
ANF Fg

(iti) general lien
AET 2]

(iv) All of the above

QIS HAFCEIEE

(e) A garnishee order is issued by

SRR S i &

l (i) the customer of the bank

@ AR
(i) the banker
(SN
-(iii} the court

G EIAS)

(iv)] None of the above

Go[Eq o8 =

4 (Sem-5/CBCS) COM HE 4 (BNK)/G 3
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4]

()

Which of the following accounts should
not be allowed to open by a minor ?

RIS (0! ZOR TR A Yt orate

fral ©fowe w232

(i) Savings bank account
A2 (@< =09

(i) Recurring deposit accoun.t
Tz Sl {2519

(i) Fixed deposit account
8 Tl o

(iv) Current account
Bl B

Overdraft is granted

ofafRed o 9 W

(i) in savings bank account
el (@ [0

(i) in fixed deposit account
) ol 25 |

(iii) in current account

< oo RO

(iv) All of the above
@oIFq AN

4 {Sem-5/CBCS) COM HE 4 (BNK)/G 4

()

(1)

4 (Sem-5/CBCS) COM HE 4 (BNK)/G S

In case of negotiable instrurrients which
person generally gets a good title ?

TG TS (FqO (PG Ghecd
AeIre Tew i fRoitdl [ebe =2

(i) Finder of the lost instrument
Ee i i e
(i) Holder of the stolen instrument
(iii) Holder in due course
- 7RfEe 45
(iv)] None of the above
oo ble @

Which of the following is not a
negotiable instrument by statute ?

RIS (R el S2Tes 28Ieaealal Weile 72 2
(i) Promissory Note
gfonsfs Ag
(i) Bill of Exchange
e &
(iii) Cheque
oF
(iv) Share Warrant
wee] wifeia

Contd.



0)

(k)

()

In which year was the Reserve Bank of
India established ?

SRS Fors @ @i be 2fewl 741 (2fwe1?

() 1921 / 5533
(i) 1934 / 5598
(i) 1935 / S9¢
(i) 1949 [ 538d

ICICI Bank is the first universal bank
of India.

TR o2l R (35 2o iR o i o iR
il

(i) Correct / €&

(i) Incorrect / ST

An illiterate person cannot open
account in a bank.

o SRS G (@ B YER @RIE |
(1) Correct /| ¥a

(i) Incorrect /[ W&

- 4 (Sem-5/CBCS) COM HE4 (BNK)/G 6

(m) Deposits of a bank represents its

()

liabilities.

([T SIS R =1 dfoffag 5|
() Correct [/ ¥&

(i) Incorrect / 9%%

Cash reserve maintained by a bank is
called the first line of defence.

(R /A RFFA 9 T <JfG A W<
e I ot =) '

(1) S Correct®/iRsm
(i) Incorrect / %%

Borrower’s character + capacity +
capital = safe credit.

9419 bR@ + ANY + T = TR 44|
(i) Correct /| ¥a

(11) Incorrect /f i

4 (Sem-5/CBCS) COM HE 4 BNK)/G 7



(p) A promissory note can be crossed.

(@)

(r)

oA o @7 @RI T AR
(i) Correct /| ¥a

(ii) Incorrect / SI¥=

Negotiable instruments are not freely

transferable.

TN TR TSI TBIGA T2 |

(i) - Correct / &

(i) Incorrect / ©i¥@

Banks -can carry on trading activities.

@ TS I AT S AT

(i) Correct /| =

(ii) Incorrect / S%x

4 (Sem-5/CBCS) COM HE 4 (BNK)/G 8

e

Answer any five of the following questions :

(@)

(b)

(c)

(d)

()

2x5=10

IS e R Antie e i ¢

What is scheduled bank ?

S IOE ([P TS @ntav |

What is fixed deposit account ?

A Tl 2B I (1T 2

What are ‘banking’ and ‘banking

company’ as per the Banking
Regulation Act, 1949 °?

Y58 b (e FaEs wizawre ‘@R Wi
‘@ @R S @I ? -

Who is a minor ?
FRETE (P 2

What is pledge ?

S PIe I 2

What 1S, hypoth_ecation?

TERES FE (2

4 (Sem-5/CBCS) COM HE 4 (BNK) (S



(g9 What is crossing of a cheque ? (b) What is E-banking.? State the different
; focets of E-banking ?

P (RSP FIE ([ICET 2
@R P @ T [fen e

h ) Wh - E . . .
(i )‘ at 1s negotiable mstrumen_t? (e 59 |

RIICIRIAN FETIT PP (ST 2 (c) Briefly state the obligations of a banker
to maintain secrecy of customer’s

() What is non-performing assets ?
account.

- T T @
‘ | sioss f2nlad (olieiiEel 6 9 AW &K

¢) What is ‘capital adequacy ratio ? ' iy TICE BT o

T DS TAMS e (I 2 | (d) When is the relationship between the
‘banker and the customer terminated ?

3. Answer any four questions of the following |

. . < S AT NEE T (O ST 2T 2
in about 200 words each : 5x4=20 LT ;

(e) Briefly state the principles of sound
lending.

T&QWWWQ@WI

() Distinguish between promissory note
and cheque.

o{fo7B1 2l 2001 *7 frwste FCATe: Ry o1
4T Ted 3l 8

(a) Differenciate between public sector
banks and private sector banks.

TR AT (@5 I G0 ST (G539 ST

AN fordi | ol @ =% 6 ey Bl

4 (Sem-5/CBCS) COM HE 4 (BNK)/G 10 4 Sem-5/CBCS) COM HE 4 (BVK)/G 11



(g9 State the features of negotiable
instruments. :

WWWWW{QH@TW|

(h) Write a brief note on banking sector
reforms in India.

SIS (R AT ARF TFO @Bl B
(oIl o7t |

4. Answer any four of the following questions
in about 600 words each : 10x4=40

. AfSbI voob! *%q fSoge e bifeb! 2 Teq
fazl ¢ :

(a) Describe the functions of a bank.
| @ PRETZ I 3

(b) Discuss the various types of E-banking
services.

Rifon oo T-E@R CRPEE SitEsa 5 |

f (Sem~5/CBCS) COM HE 4 (BNK)/G 12

(c). Discuss the general relationships
between banker and customer.

R NI ST IS FIRE T2 AT S
|

(d) State the procedures of opening a bank
account in the name of

(i) an illiterate pérson, and
(ii) a joint stock company. 3+7=10
(i) <%« SFEFS JiE A=

(i) 9Bl R SELR FHARE s EQS
(AFIR SRR 36

() What is mortgage ? State the various

types of mortgage. 2+8=10

5@ T @I Rien aoRe I RIE
gl 41 | '

4 (Sem-5/CBCS) COM HE 4 (BNK)/G 13



| (f) . Discuss the various types of credit.
e e Ao [EE SETnal 310

(g} What is endorée_ment? Explain the
various types of endorsements with
suitable examples.

AP T @ T T fif
AP AORF K= W A -

(h) State the statutory protections granted

to- the paying banker under the -

Negotiable Instruments Act, 1881.
Sbb> B TP Werlel SNiend e

AR [F5 24 741 [fgam i
JZTIZ 0 |

(i) Discuss the powers of the Reserve Bank .

of India under the Banking Regulation
Act, 1949.

585 bd (@SR REe @IiETe e wEe
G (A3 FIOPE S 4 |

4 (Sem-5/CBCS] COM HE 4 (BNK)/G 14

0)
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Describe the provisions of the Banking
Regulation Act, 1949 in regard to

(1) constitution of Board of Directors,
and

(i) loans and advances. 2+8=10
(i) e SIfRET o1, i

(@) A9 S SR T, |
Y585 bee (AR e Siiges Rz 3¢

. 9
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